Additional problems for Chapter 14

1. (Riggs #10, page 374)  Suppose a company has a contribution margin of 40 percent and total fixed costs of $3 million per year:

a. What is the break-even point in Revenues?

b. If its fixed costs increase by 10 percent, and its contribution margin remains unchanged, by what percentage of revenue does its break-even point increase?

c. By how much would its contribution margin increase if it could raise prices by 3 percent with no changes in variable or fixed costs?

2. The Matador Company has a CM of 60% and fixed costs of $15,000 per period.  Assume that the company expects sales to go up by $10,000 for the next period.  
a. How much will Operating Profit increase?

b. Graphically show the CPV curve and show the Breakeven point and the effect of the $10,000 increase in sales for the next period on the graph.




c. Show the Contribution Margin version of the Income Statement for this problem at the Breakeven sales and with the $10,000 increase in sales.

d. It is proposed to increase the advertising budget were increased by $5,000, which is expected to increase sales by $8,000.  Should the advertising budget be increased?

e. The company is considering a $3,000 increase in salaries.  What additional sales are required to cover the higher cost?

3. The Matador Company has recently purchased a plant to manufacture a new product.  The following data pertains to the new operation:

	Estimated annual sales
	3,500 units @ $20/unit

	Estimated costs:
	

	     Direct materials
	$6.00/unit

	     Direct labor
	$1.00/unit

	     Factory overhead (all fixed)
	$12,000 per year

	     Selling expenses
	30% of sales

	     Administrative expenses (all fixed)
	$16,000 per year


a. Determine the Breakeven point in units and dollars.
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